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1.In Fig.1. Given VE is −5V find the values of Ic , IE and Vo.(25pts)

Fig.1.

2.For the circuit given in Fig.2. plot ic vs vce for IB= 20µA,40µA,60µA.
Hint: Enable the DC Sweep in analysis setup and chose voltage source and linear.Givethe

]Start value of  VBB be 0 and end value be 10V.Then chose nested sweep and do the same
for VCC.

Fig.2.

3.In Fig.3. design the circuit by calculating the values of R1 and R2 (Assume Ic~Ie)(20 pts)

Fig.3.

Jasmine
IC = 1mA
a) Assume alpha = 1
b) Assume beta = 50

Jasmine



4.In Fig.4. The circuit is to work as an inverter.Plot the values of Vi for Vo varying 
from −5V to +5V.In case the given circuit is incorrect draw the revised circuit and plot 
Vi vs Vo. (25 pts)
  

Fig.4.




